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Exam. Code : 213101
Subject Code : 3925

M.A. Economics I** Semester
QUANTITATIVE METHODS FOR ECON OMISTS—I
Paper—MAE-103
Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions, selecting at least ONE
question from each section.

SECTION—A

I @ Ify;jlt: find 9 .

1 dx

(b) Prove that for the demand curve qp™=b, where
a, b are constants elasticity of demand n Ay

(¢) Given the total cost function 7t = 60 — 12q + 2q2
Find AC and MC; hence show that slope of AC

curve =L pvc - ac). 6,7,7
q

II. (@ Ifp=log (x*+ y? show that :

2 2
(b) Verify Euler’s Theorem :
B = xMyll4 xNgm 10,10
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SECTION—B : (b) Find the inverse of -
‘ int where the utility fun_ctlon
III. () Find4 8the(xpolsr;2 — 3(y — 4)2 will have max1mu.ni {15 g
Unis el Y t constrain E
or minimum value if it is subject to a budge X203 iy o
o i ol T e
X Yh t the maximum value of the function :
Sl 3_27x + 108 VL. (a) Write the Quadratic form corresponding to the
XA k- 10,10 : T
is 108 more than the minimum Y symmetric matri -
IV. (a) Evaluate: L5
1 dx ‘ _ 3 .0 i
j Jx-1-x+1 3 Ay wiy
(b) Given that : _
(i) Ix+1 [5 6] [2 5] [4 3]
: d A= B= G o
Under pure competition for a commodity the deman 6 3 3.1 4 1
i and supply functions are Show that (ABC)'= c'ga~ 10,10
e Ay p, = Lx+3) SECTION—D
A e d VIL Solve the following L pp by Slmplex method :
7 lus an
respectively. Find the consumer’s surp 10,10 7 TR 20x +30x
st el e subject to constraints :
g SECTION—C
3k 3x, < 36
V. (a) Provethat: et
e i
L Vi =ab°”.‘+g+2‘ 2x,+6x2560
: . i X, X, 20, 20
1 1 l1+c¢
(Contd.)
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VIIL(a) Explain shadow prices and their uses.
(b) Inagame matching coins with two players, suppose
" A wins one unit of value when there are two heads,
wins nothing when there are two tails and loses
1/2 unit when there are one tail and one head.
Determine the pay off matrix, the best strategies for
each player and the value of game to player A.

10,10
~ (Punjabi Version)
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(M)mﬁ(ﬁf‘o(%mqp‘“=b,ﬁﬁa,bﬂf33
}Wﬁgnd=—a3?§|

®) a_i‘zvsmmn=60—12q+2q2 firgr fanrm
ol AC m3 MC U3 &3 | z% ot geAE fa

AC =@ =1 [MC-AC] 3! s
q
L (8 R p=log®+y) a8 fa :

2 2
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(m)gm@fa@we’ruﬂz?_». CCR
p=x"yN + x‘f‘y“‘. : 10,10
Fra—nf
. (@) fdg = usT € ffa QuuasT IAHS
U=4s—(x—5)2—3(y-4)2a‘mmfuam+ﬂ+
zﬁz—n“raﬁsﬁéavﬁfeam%fsﬁa:z
x+3y=9 T niuls I '
(m)fetfew@faafaﬂéé‘q?é‘uﬁvs:
y=x3-27x + 108
wEalz ¥® T 108 <0 JI 10,10
V. (8) yoiaE &3 :

1
@® IJ;_I_J?+1dx

x3
x+1

dx.

@ |
(M)ﬂﬁémﬁuqﬁﬁw@mﬁmm@
AUBTET € &9H TG :

8
x+1

1
P = —2,ps=—2—(X+3)

FHET | W'%mﬂ%ﬂ»{%@_ﬁm%
AousH fars a5 10,10
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g—F FTI—H
V. ® Fes a9 fa : VIL. 35 g »®. ut. t. § ifudan fedt enrar I
9 :
b B : L1004 ﬁaﬁHTE'?T:rZ=20xl+3Ox2
i B R ZR =abc(1+—+—+—). i
b ;
R e : ° ﬁm‘ﬁé‘mﬂz :
s 3x, #3x 36
(nf) fegst v €& forrs &9 ,
5x]+2x2350
1 2008 ‘ 2x, + 6x, < 60
A=t2 3.1 10,10 'Xl, X2ZO. 20
P Lid VIIL (8) B3 a3t w3 Qust & =93 o3 fonrfimpr
|

VL (8) Aithefex Aefoan a® Hdfus Tgarswa gu
fod .

20 3
0.2
9 =2 1

() feg ez fomrr 3 fa -

afs o-f Je-fi ]

few@ (ABC)'=C’'B'A". 10,10

() f€x a1 T 2 fustdnit 5% i s A
I51 HE B8 AT € I3 I U5 3t A HE @
e € 28 I° I8 m3 Y% gfse 58 g9 Frer
I 125 M3 1 I3 IR I51 T mre
Hefaan, J9a fustat ®et eur gedtt
m3 fuzrdt A &=t 83 & iz v fagugs
9| 10,10
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